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10] 7
0.10] 4
0.010] 3

7.43

‘ (1x7)+ (0.1x4) + (0.01 x3) =7+ 0.4+ 0.03 = 7.43 ]
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(2) 0.6+ 0.3
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@ (1) 0.2201  (2) 1.5338 @(1) 2.201
@ (1) 22.01 (2) 15.338 @ (1) 220.1

® (1)220.1 (2) 1533.8

(2) 15.338

(2) 153.38

B

201

2—— =2+40.201 = 2.201
1000 *

15ﬁ =15+ 0.338 = 15.338

1000
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® 12.791 @ 3.407 ® 7.123

@ 40.132 ® 0.684
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webA 71 2He = o Juytt




7.

S Zo| A 5.1 T A7V L AFE BT IEA Q.

il

@® 5.01 @5.10 ® 5.010 @5.100 ® 50.1

44114 ot & #e]9] 02 =S 4= 5U
7 ot & AH=] 9] 0 2 A=kt LYEHHA
@ 51 @ 5.01 @ 5.1 4Yrtt.
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) 28 cm = Dm
(2 )6m75 cm = Dm
@® (1) 0.028 (2) 0.675 @ (1) 0.028 (2) 6.75
® (1) 0.28 (2) 0.675 @(1) 0.28 (2) 6.75

® (1) 2.8 (2) 0.675

B

(1) lem = 0.01m

28cm = 0.28 m

(2) 6m75cm = 6m + 75 cm
=6m+0.75m = 6.75m
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(1) 0.35 = 0.01 ©] [ ]7Heo]x, 0.11 2 0.01 o] [ |7AQUIe}.
(2) 0.35+0.11 & AupdY7}?

@ (1) 3.5,1.1 (2) 0.46 @ (1) 3.5,11 (2) 0.46
® (1) 35,1.1 (2) 0.46 @(1) 35,11 (2) 0.46
® (1) 350,110 (2) 0.46

(1) 0.35 & 0.01 ©] 35 7io] 1,
0.11 = 0.01 ©] 11 7Ro|ct.
(2) 0.35 4 0.11 = 0.46




12. #AHole} ejYol= m& A k5ol Hrts
o= 10.92 kg, Hl4o]= 8.58 kg ZTHH
D& 3 kel FoHA L.,

> E: kg

> HE 195kg

1ol = AL A Ao

A& 2ol e} B0l 7} 28 7Hpe] FA o,
10.92 4 8.58 = 19.5(kg)
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9.768 +1.74 (O 7.92 4+ 3.89
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9.768 + 1.74 = 11.508
7.92 + 3.89 = 11.81
wHehA] 9.768 + 1.74 < 7.92 + 3.89
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19.6L &2 25 E°] €9 54Ut o] & 18] 700mL 4
AFESIEEY 97 Sol= 78L 7F syt AL E50 22 ¥
L3IA] LA 2.

> E

=

> ®E 141L

B ~

1 — 700 mL

9E — 700 x 9 = 6300( mL)

6300mL = 6.3 L

Ag 25 ANH 5 F: 63+ 7.8=141(L)
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> Hehl 57

AR cud 4o gt AES st

AR ae, AR o= AR an AR Le, AR xzolBg

= 578dYch
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20. o5& I"AA F A 7 Wt A= B38d o, 74 9 271§
TOFA L.

U
A4 7ot Wt A= Bajolmg
(@ ©)=57°

©
(Zr @)=(Z ©)+72°=57°472°=129°




